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A knot diagranﬂ €1 C2 €7  Cg C11 €3 €8 Cio
Ideals for irreducible component#ﬂ)f Xpar

I = (u® —u*? 4+ —u? + 1)

* 1 irreducible components of dim¢ = 0, with total 43 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIF=(@u®—u?+... —u?+1)

(i) Arc colorings

w= (o)

a7 =
a9 =
az =

ag =

—ul? — 3010 — 5u® —4ub —2ut + P+ 1
w't + 4ut? + Tut0 + 6ud + 208 — u?
—u3l —8u? 4 — 1247 — 4P
B+ 4w+
wl® 4+ 5ut + 1102 + 12019 + 508 — 208 — 20t + 1
—U16 _ 4’LLl4 _ 8U12 _ 8’LL10 _ 4’LL8
—u35 —10u? + - —ud — 20
w3+ 9u3B 4wl
(—u35 —10u33 + - — B — 2u>

as = uP +9uP o+l

(ii) Obstruction class = —1

(iii) Cusp Shapes

= —du* 4+ 4040 — 44039 + 44438 — 236137 4240130 — 79610 4 83213t — 1848133 42004132 —
304013t 43444130 — 3480020 + 4132128 — 2468u27 + 3044120 — 428125 4+ 452u* + 1264123 —
1860u2? + 1600u2! — 2240620 4 82419 — 920u'® — 84u!7 + 456u!6 — 464u'S + 7720t —

336u'3 433202 — 720 — 72004+ 76u° — 13613 +68u” —44u’ + 161’ +8ut —8ud +-8u? —4u+2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1,Cq uB a2+ w2 -1

€2 ut 4+ 23u? 4+ 2u—1

s u -5+ —2u+5
C4,Cs5,C8 u43+u42+_._+u2_1

Cy

c7,C11 uB w2+ —Bu—2

c10 u®® + 1w+ 120+ 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1,Ce yB 423y 42y —1
C2 y43_5y42+.+14y_1

€3 Y+ Tyt o — 926y — 25
C4,C5,C8 gt — 49y . 42y —1

Cg

cr,c11 Y — 33y ... £ 125y — 4

c10 Y -y - 18y -1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y=1CS)

Cusp shape

u= 0.5213154 0.8376111

1.91297 + 4.880491

7.17506 — 8.805451

u= 0.521315—-0.8376111

1.91297 — 4.880491

7.17506 + 8.805451

u = —0.564675 4 0.8460851

9.73939 — 6.815011

9.15243 + 6.580801

u = —0.564675 — 0.8460851

9.73939 + 6.815011

9.15243 — 6.580801

u = —0.070971 4 0.9492821

—1.88710 — 1.493011

—2.49179 + 5.123161

u = —0.070971 — 0.9492821

1.88710 + 1.493011

—2.49179 — 5.123161

u = 0.157033 + 1.0391001

4.88985 4 3.072471

2.04876 — 3.227901

u= 0.157033 — 1.0391001

4.88985 — 3.072471

2.04876 + 3.227901

u = —0.443218 + 0.7955831

0.18390 — 1.874151

2.36398 + 3.864421

u = —0.443218 — 0.7955831

0.18390 + 1.874151

2.36398 — 3.864421

u = —0.578652 4 0.6744311

10.22700 + 2.273861

10.59990 + 0.059531

u = —0.578652 — 0.6744311

10.22700 — 2.273861

10.59990 — 0.059531

u = 0.509969 + 0.6794971

2.36364 — 0.649651

9.29098 + 1.482201

u=0.509969 — 0.6794971

2.36364 4+ 0.649651

9.29098 — 1.482207

u= 0.802703 + 0.1623511

6.46390 — 7.574901

7.29481 - 4.514861

u= 0.802703 —0.1623511

6.46390 + 7.574901

7.29481 — 4.514861

u = —0.783539 + 0.1380771

—1.13687 + 5.202981

4.40416 — 6.226891

u = —0.783539 — 0.1380771

—1.13687 — 5.202981

4.40416 + 6.226891

u = 0.495820 4 1.1041301

6.52652 + 3.465991

6.43711 — 3.774341

u= 0.495820 — 1.1041301

6.52652 — 3.465991

6.43711 + 3.774341

u = —0.781151

2.55363

4.52390

u = 0.758021 + 0.0990351

—2.34232 — 1.579761

0.847135 + 0.2823981

u = 0.758021 — 0.0990351

—2.34232 + 1.579761

0.847135 — 0.2823981

u = —0.463782 + 1.1454401

—1.69075 — 3.986571

4.72929 4 3.118941

u = —0.463782 — 1.1454401

—1.69075 + 3.986571

4.72929 — 3.1189471

u = —0.382526 + 1.1979801

—5.08887 + 1.280851

0. —2.903761

u = —0.382526 — 1.1979801

—5.08887 — 1.280851

0. +2.903761

u= 0.362492 4 1.2061101

2.33692 — 3.705181

2.48681 + 1.540841

u= 0.362492 — 1.2061101

2.33692 + 3.705181

2.48681 — 1.540841

u= 0407336 4 1.1918401

—6.07657 + 2.441021

—3.16979 — 3.577791




Solutions to I} V—1(vol + /=1CS) Cusp shape
u= 0.407336 — 1.1918401 —6.07657 — 2.441021 —3.16979 + 3.577791
u = —0.448865 + 1.2006001 —0.96199 — 4.398511 0.+ 3.541461
u = —0.448865 — 1.2006007 —0.96199 + 4.398511 0. — 3.541461

uw= 0.490454 + 1.1844601

—5.48574 + 6.185151

—2.04828 — 3.593681

uw=0.490454 — 1.1844601

—5.48574 — 6.185151

—2.04828 + 3.593681

u= 0.645564 + 0.3003101

8.84662 + 0.963741

10.02944 — 0.375891

u = 0.645564 — 0.3003101

8.84662 — 0.963741

10.02944 + 0.375891

u = —0.507296 + 1.1867301

—4.20932 — 9.966651

0.4+ 9.167461

u = —0.507296 — 1.1867301

—4.20932 + 9.966651

0. —-9.167461

u=0.519799 + 1.1879601

3.43954 + 12.449901

4.17518 — 7.631001

u= 0.519799 — 1.1879601

3.43954 — 12.449901

4.17518 + 7.631007

u = —0.536405 + 0.1719307

1.103730 — 0.0987651

9.44099 + 0.910271

u = —0.536405 — 0.1719307

1.103730 + 0.0987651

9.44099 — 0.910271




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Ce uB Fut? 4+ 4w -1
€2 ut +23u? 4 4 2u— 1
3 u -5t 4 —2u+5
C4,C5,C8 uB a2 421
Co
C7,C11 U43*U42+"’*5U72
€10 u*? 4+ 11u* o 12u+ 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,Ce Y+ 23y* 2y — 1
€2 y* -5y 1y — 1
& y* + 7y*? + - — 926y — 25
C4,Cs5,C8 yt — 49y . 42y —1
C9
c7,C11 Y — 33y ... 1125y — 4
C10 y437y42+~-~—18y71




